Notes 3-4




What equation can be used to represent the situation?
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Write the equation of each line in slope-intercept form, given the information.

A. slope % and y-intercept of 8

B.(~2,4) and (8, 10)

C. (-1,3)and (7,3)
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Write an equation of the line through (5,-2) and (0,-2) in slope-intercept
form.
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Fill in the blanks. Then write and graph an example.
The equation of a horizontal line is

,where b is the y-intercept of the
line.

Example

The equation of a vertical line is

, where a is the x-intercept of

the line.

Example
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Werite Parallel or Perpendicular Equations

Write an equation in slope-intercept form for a line perpendicular to
the line y = %x +2 through (2, 0).




image11.png
Write an equation in slope-intercept form for a line parallel to the line

3
y= —ZX+3 and containing (-3, 6).
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An apartment complex charges $525 per month plus a $750 annual maintenance
fee.Write an equation to represent the total first year’s cost A for r months of

rent. Then compare this rental cost to a complex which charges a $200 annual
maintenance fee put $600 per month for rent.

If a person expects to stay in an apartment for one year, which complex offers the
better rate.
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Apartment complex X charges $525 per month plus a $750 annual fee.
Apartment complexY charges $600 per month plus a $200 annual fee.

If a person expects to stay in an apartment for one year, which complex offers the
better rate.

£

Solve

Check
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Challenge

Find the value of n so that the line perpendicular to the line with the
equation —2y + 4 = 6x + 8 passes through the points at (n, —4) and (2, —8).
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Vocabulary

slope-intercept form n.
a linear equation of the form y
=mx + b; the graph of such an
equation has slope m and
y-intercept b

point-siope form n.

an equation of the form

y =¥ =m(x—x,) where (x,,y,)
are the coordinates of any point
on the line and m is the slope of
the line
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On an interstate near Lauren’s
hometown, the minimum fine for speeding
ten or fewer miles per hour over the
speed limit of 65 miles per hour is

$42.50. There is an additional charge of
$2 for each mile per hour over the initial
ten miles per hour.

Cost of Speeding

O 0 12 1w ok 8
Speed Over Limit (mph)

-
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Nonvertical Line Equations

Fill in the blanks and write an example equation of each form.

The slope-intercept form of a linear equation isy = s
where is the slope of the line and is the y-intercept.

Example

The point-slope form of a linear equation is = ,

where ) is any point on the line and is the slope of the line.

Example
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Write an equation in slope-intercept form of the line with slope 6 and
y-intercept of —3.Then graph the line.
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Write an equation in point-slope form of the line with slope 5 that
contains (—10, 8).Then graph the line.
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Write an equation of the line through each pair of points in slope-
intercept form.

a. (4,9) and (-2,0) b. (-3,-7) and (-1,3)




